
45

Exotherm
ic Torch &

 Packages

International Customer Care: 940-381-1212  /  FAX 940-483-8178
www.tweco.com

slice torch replacement parts list
Item No. Description Part No.

1 Handle - Rightt Half 94-370-166

2 Handle - Left Half 94-370-167

3 Shield 94-777-109

4
1/4" Collet Nut Assembly 94-168-022

3/8" Collet Nut Assembly 94-168-024

5
1/4" Collet Chuck 94-158-048

3/8" Collet Chuck 94-158-045

6 Washer 94-940-109

7 Flashback Arrestor 94-305-009

8 Head/Body Assembly 94-378-338

9 Lever Assembly 94-476-082

10 Oxygen Hose - 10ft. (3M) 94-396-193

11

Cable Assembly for SLICE Torch Part No. 03-003-000 96-130-279

Cable Assembly (Utillity & Industrial Pack) 96-130-276

Cable Assembly (Battery & Complete Pack) 96-130-319

Cable Assembly (Cordless Pack) 96-130-324

12 Extension - 6" (15.24cm) 94-168-023

13 Washer 94-940-108

14 Extension Shield 94-777-111

15 3/8" Conversion Kit 94-463-032

16 10-32 Pan Head Screw

17 6-32 x 9/16" Pan Head Screw

slice STRIKER replacement parts list
Item No. Description Part No.

1 Handle - Right Half 94-370-168

2 Handle - Left Half 94-370-169

3 Striker Bar 96-070-031

4 Cable Assembly 96-130-320

5 #10-32 x 3/8" Pan Head Screw

6 #10-32 Hex Nut

7 #6-32 x 1-1/14" Pan Head Screw

8 #6-32 x 3/4" Pan Head Screw


